

The Mathematics Education

ISSN 0047-6269

Volume - LVII, No. 4, December 2023

Journal website: www.internationaljournalsiwan.com

ORCID Link: <https://orcid.org/0009-0006-7467-6080>

Google Scholar: <https://scholar.google.com/citations?hl=en&user=UOfM8B4AAAAJ>

Refereed and Peer-Reviewed Quarterly Journal



Application of (4, 2)-jection Operator in Exponential and Hyperbolic Functions

by **Anand Kumar**, *Research Scholar*,

Department of Mathematics,

Jai Prakash University, Chapra - 841301, India

Email: 1989anandkumarsingh@gmail.com

Arbind Kumar, *Higher Secondary School,*

Bhithi Shahabuddin, Baniyapur - 841411, Saran, India

Email: sharmaarbind11246@gmail.com

Ajay Kumar, *Assistant Professor,*

Department of Mathematics,

Rajendra College, Chapra - 841301, India

(Jai Prakash University, Chapra)

Email: ajaykumar7714@gmail.com

&

L.B. Singh, *Retd. Associate Professor,*

Department of Mathematics,

Jai Prakash University, Chapra - 841301, India

E-mail : lbsdmpu@gmail.com

(Received: October 27, 2023; Accepted: November 25, 2023;

Published Online: December 30, 2023)

Abstract:

In this paper, we use (4, 2)-jection operator which is the generalization of projection operator, projection defined in G.F. Simmons [1]. We have define e^B , where B is a (4, 2)-jection operator on a linear space L .

We find e^{nB} , n being an integer. We define hyperbolic function related to a (4, 2)-jection operator B . We deduce properties of hyperbolic function such as $\cosh^2 B - \sinh^2 B = I$, etc. We prove results analogous to results in trigonometry.

Keywords: linear space, projection operator, Hyperbolic functions, Trijection operator, (4, 2)-jection.

1. Introduction:

(4, 2)-jection and hyperbolic functions:-

Definitions:

Let B be a (4, 2)-jection operator on a linear space L . [2]
i.e. $B^4 = B^2$.

We define,

$$e^B = I + B + \frac{B^2}{2!} + \frac{B^3}{3!} + \frac{B^4}{4!} + \frac{B^5}{5!} + \frac{B^6}{6!} + \dots$$

$$\text{Now, } e^B = I + B + \frac{B^2}{2!} + \frac{B^3}{3!} + \frac{B^2}{4!} + \frac{B^3}{5!} + \frac{B^2}{6!} + \dots \quad (\text{if } B^4 = B^2)$$

$$= I + B + B^2 \left(\frac{1}{2!} + \frac{1}{4!} + \frac{1}{6!} + \dots \right) + B^3 \left(\frac{1}{3!} + \frac{1}{5!} + \frac{1}{7!} + \dots \right)$$

$$= I + B + B^2 \left(\frac{e^1 + e^{-1}}{2} - 1 \right) + B^3 \left(\frac{e^1 - e^{-1}}{2} - 1 \right)$$

$$e^B = I + B + B^2(\cosh 1 - 1) + B^3(\sinh 1 - 1)$$

Therefore,

$$\begin{aligned}
 (e^B)^2 &= [I + B + B^2(\cosh 1 - 1) + B^3(\sinh 1 - 1)]^2 \\
 &= [I^2 + B^2 + B^4(\cosh 1 - 1)^2 + B^6(\sinh 1 - 1)^2 + 2.I.B \\
 &\quad + 2.B.B^2(\cosh 1 - 1) + 2.B^2(\cosh 1 - 1)B^3(\sinh 1 - 1) \\
 &\quad + 2.I.B^3(\sinh 1 - 1) + 2.I.B^2(\cosh 1 - 1) + 2.B.B^3(\sinh 1 - 1)] \\
 &= [I^2 + B^2 + B^2(\cosh 1 - 1)^2 + B^2(\sinh 1 - 1)^2 + 2.B \\
 &\quad + 2.B^3(\cosh 1 - 1) + 2.B^3(\cosh 1 - 1)(\sinh 1 - 1) \\
 &\quad + 2.B^3(\sinh 1 - 1) + 2.I.B^2(\cosh 1 - 1) + 2.B.B^3(\sinh 1 - 1)] \\
 &= [I^2 + B^2 + B^2(\cos^2 h1 + \sin^2 h1 - 1) + B^3(2\sinh 1 \cosh 1 - 2)] \\
 &= [I^2 + B^2 + B^2(\cos 2h1 - 1) + B^3(\sin 2h1 - 2)] \\
 (e^B)^2 &= [I^2 + 2B^2 + B^2(\cos 2h1 - 1) + B^3(\sin 2h1 - 2)]
 \end{aligned}$$

Let us assume,

$$(e^B)^n = [I^2 + nB^2 + B^2(\cosh n1 - 1) + B^3(\sinh n1 - n)]$$

Now, $(e^B)^{n+1} = (e^B)^n \times e^B$

$$\begin{aligned}
 &[I + B + B^2(\cosh 1 - 1) + B^3(\sinh 1 - 1)] \times [I^2 + nB^2 + B^2(\cosh n1 - 1) + B^3(\sinh n1 - n)] \\
 &= [I + nB + B^2(\cosh n1 - 1) + B^3(\sinh n1 - n) + B + nB^2 + B^3(\cosh n1 - 1) \\
 &\quad + B^4(\sinh n1 - n) + B^2(\cosh 1 - 1) + nB^3(\cosh 1 - 1) + B^4(\cosh 1 - 1)(\cosh n1 - 1) \\
 &\quad + B^5(\cosh 1 - 1)(\sinh n1 - n) + B^3(\sinh n1 - 1) + nB^4(\sinh 1 - 1) \\
 &\quad + B^5(\cosh n1 - 1)(\sinh 1 - n) + B^6(\sinh 1 - 1)(\sinh n1 - n)] \\
 &= I + (nB + B) + B^2 \{ \cosh n1 - 1 + n + \sinh n1 - n + \cosh 1 - 1 \\
 &\quad + (\cosh 1 - 1)(\cosh n1 - 1) + n(\sinh 1 - 1) + (\sinh 1 - 1)(\sinh n1 - n) \} \\
 &\quad + B^3 \{ \sinh n1 - n + \cosh 1 - 1 + n(\cosh 1 - 1) + (\cosh 1 - 1)(\sinh n1 - n) \\
 &\quad + (\sinh 1 - 1) + (\sinh 1 - 1)(\cosh n1 - 1) \}
 \end{aligned}$$

$$\begin{aligned}
 &= I + (n+1)B + B^2 \{ \cosh 1 \cdot \cosh n1 + \sinh 1 \cdot \sinh n1 - 1 \} + B^3 \{ \cosh 1 \cdot \sinh n1 \\
 &\quad + \sinh 1 \cdot \cosh n1 - n - 1 \} \\
 &= I + (n+1)B + B^2 \{ \cosh(n+1) - 1 \} + B^3 \{ \sinh(n+1) - (n+1) \}
 \end{aligned}$$

Hence by induction for any positive integer n .

$$e^{nB} = [I^2 + nB^2 + B^2(\cosh n1 - 1) + B^3(\sinh n1 - n)]$$

if we put $n = 0$,

$$e^{0B} = [I^2 + 0.B^2 + B^2(\cos 0h1 - 1) + B^3(\sin 0h1 - 0)]$$

$$e^0 = [I^2 + 0 + B^2(1 - 1) + B^3(0 - 0)]$$

$$e^0 = I, \text{ where } 0 \text{ is zero operator.}$$

So relation holds when $n = 0$.

So we take

$n = -n$, i.e. when n is a negative integer.

$$e^{-nB} = [I + (-n)B^2 + B^2(\cos(-n)h1 - 1) + B^3(\sin(-n)h1 - (-n))]$$

$$e^{-nB} = [I - nB^2 + B^2(\cosh n1 - 1) - B^3(\sinh n1 - n)]$$

Putting $B = I$

$$e^{nI} = [I^2 + nI^2 + I^2(\cosh n1 - 1) + I^3(\sinh n1 - n)]$$

$$= I[I + n + \cosh n1 - 1 + \sinh n1 - n]$$

$$e^{nI} = I[\cosh n1 + \sinh n1]$$

So we put $n = 1$

$$e^I = I[\cosh 1 + \sinh 1]$$

$$e^I = Ie \text{ or } eI$$

Now,

$$\cosh B = I + \frac{B^2}{2!} + \frac{B^4}{4!} + \frac{B^6}{6!} + \dots; \text{ (if } B^4 = B^2 \text{)}$$

$$= I + \frac{B^2}{2!} + \frac{B^2}{4!} + \frac{B^2}{6!} + \dots$$

$$= I + B^2 \left[\frac{1}{2!} + \frac{1}{4!} + \frac{1}{6!} + \dots \right]$$

$$= I + B^2 \left[\left(1 + \frac{1}{2!} + \frac{1}{4!} + \frac{1}{6!} + \dots \right) - 1 \right]$$

$$\cosh B = I + B^2 [\cosh 1 - 1]$$

$$\sinh B = B + \frac{B^3}{3!} + \frac{B^5}{5!} + \frac{B^7}{7!} + \dots; \text{ (if } B^4 = B^2 \text{)}$$

$$\sinh B = B + \frac{B^3}{3!} + \frac{B^3}{5!} + \frac{B^3}{7!} + \dots$$

$$= B + B^3 \left[\frac{1}{3!} + \frac{1}{5!} + \frac{1}{7!} + \dots \right]$$

$$= B + B^3 \left[\left(1 + \frac{1}{3!} + \frac{1}{5!} + \frac{1}{7!} + \dots \right) - 1 \right]$$

$$\sinh B = B + B^3 [\sinh 1 - 1]$$

Now,

$$\sinh B + \cosh B = B + B^3 [\sinh 1 - 1] + I + B^2 [\cosh 1 - 1]$$

$$e^B = I + B + B^2 [\cosh 1 - 1] + B^3 [\sinh 1 - 1]$$

$$e^{2B} = I + 2B + B^2 [\cosh 2 - 1] + B^3 [\sinh 2 - 2]$$

$$e^{nB} = I + nB + B^2 [\cosh n - 1] + B^3 [\sinh n - n]$$

$$e^{nB} = \{I + B^2(\cosh n - 1)\} + \{nB + B^3(\sinh n - n)\}$$

$$e^{nB} = \sinh nB + \cosh nB$$

Theorem (1.I): $\cosh^2 nB - \sinh^2 nB = I$

Proof: $\cosh nB + \sinh nB$

$$= \{I + B^2(\cosh n - 1)\} + \{nB + B^3(\sinh n - n)\}$$

$$= e^{nB}$$

Now,

$$\cosh nB - \sinh nB$$

$$= \{I + B^2(\cosh n - 1)\} - \{nB + B^3(\sinh n - n)\}$$

$$= e^{-nB}$$

$$\cosh^2 nB - \sinh^2 nB$$

$$= (\cosh nB + \sinh nB)(\cosh nB - \sinh nB)$$

$$= e^{nB} \times e^{-nB}$$

$$= e^0$$

$$= I$$

Hence, $\cosh^2 nB - \sinh^2 nB = I$

Theorem (1.II): $\cosh nB \cdot \operatorname{sech} nB = I$

Proof: We know that

$$\operatorname{sech} nB = I + B^2(\operatorname{sech} n - 1)$$

$$\therefore \cosh nB \cdot \operatorname{sech} nB$$

$$= \{I + B^2(\cosh n - 1)\} \cdot \{I + B^2(\operatorname{sech} n - 1)\}$$

$$= [I + B^2(\operatorname{sech} n - 1) + B^2(\cosh n - 1) + B^4(\cosh n - 1)(\operatorname{sech} n - 1)] \text{ (if } B^4 = B^2)$$

$$= I + B^2[\operatorname{sech} n - 1 + \cosh n - 1 + 1 + \cosh n - \operatorname{sech} n + 1]$$

$$= I + B^2[0]$$

$$= I$$

Theorem (1.III): $(\cosh B + \sinh B)^n = (\cosh nB + \sinh nB)$

Proof: R.H.S

$$\begin{aligned}
 (\cosh nB + \sinh nB) &= \{I + B^2(\cosh n - 1)\} + \{nB + B^3(\sinh n - n)\} \\
 &= [I + nB + B^2(\cosh n - 1) + B^3(\sinh n - n)] \\
 &= e^{nB} = (e^B)^n \\
 &= [I + B + B^2(\cosh 1 - 1) + B^3(\sinh 1 - 1)]^n \\
 &= [\{I + B^2(\cosh 1 - 1)\} + \{B + B^3(\sinh 1 - 1)\}]^n \\
 &= (\cosh B + \sinh B)^n
 \end{aligned}$$

Theorem (1.IV): $(I + \cosh 2 + \sinh 2)^n = 2^n \cosh^n B (\cosh nB + \sinh nB)$

Proof: $(I + \cosh 2 + \sinh 2)^n = \{I + \cosh^2 B + \sinh^2 B + 2\sinh B \cosh B\}^n$

$$\begin{aligned}
 &= (\cosh^2 B + \sinh^2 B + 2\sinh B \cosh B)^n \\
 &= \{2\cosh B (\cosh B + \sinh B)\}^n \\
 &= 2^n \cosh^n B (\cosh B + \sinh B)^n \\
 &= 2^n \cosh^n B (\cosh nB + \sinh nB)
 \end{aligned}$$

References:

- [1] Simmons, G.F. : "Introduction To Topology And Modern Analysis" McGraw-Hill Book Company, Inc., New York, (1963), P. 273.
- [2] Simmons, G.F. : "Introduction To Topology And Modern Analysis", McGraw-Hill Book Company, Inc., New York, (1963), pp. 80-81.
- [3] Dunford, N. & Schwartz, J. : "Linear Operator, Part I", Interscience Publisher, Inc., New York (1967).
- [4] Edward, R.E. : "Functional Analysis", Holt, Rinehart and Winston, Inc., New York, 1965.
- [5] Goffman, C. & G. Pedrick : "First Course In Functional Analysis", Prentice Hall, India, New Delhi (1974).